RITe

Find the Percents

Name:

60 x

70 x

08 X

17 x

3 X

38 x

33 x

92 x

94 x

31 x

% = 36
% = 42

% =9.8
% = 8.5
%=1.5

%= 114
% =19.9
% =9.2
% = 56.4
% = 15.5

36 x

60 x

38 X

97 x

08 X

23 x

90 x

11 x

89 x

57 x
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Date: Score:
%= 14.4
% = 54
% =152
% =9.7
% =9.8
% = 4.6
% =172
% = 6.6
% = 62.3
% = 5.7
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Find the Percents

60 x 60% = 36

70 x 60% = 42

98 < 10% = 9.8

17 x 50% = 8.5

3x50% = 1.5

38 x30% =114

33 x30% =99

92 x10% = 9.2

94 x 60% = 56.4

31 x50% = 15.5

Date: Score:

36 x40% = 14.4

60 x 90% = 54

38 x40% = 15.2

97 x 10% = 9.7

98 x 10% = 9.8

23 x20% = 4.6

90 x 80% = 72

11 x60% = 6.6

89 x 70% = 62.3

57 x10% = 5.7
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